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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. The Principal has appoint three new teachers this year
2. The Principal has appointed three new teachers this year
3. The Principal have been appointing three new teachers this year

4. The Principal have appointed three new teachers this year

Correct Answer :-

« The Principal has appointed three new teachers this year

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. The artist has drew a beautiful picture of the baby
2. The artist has drawn a beautiful picture of the baby
3. The artist has draw a beautiful picture of the baby

4. The artist have drawn a beautiful picture of the baby

Correct Answer :-

« The artist has drawn a beautiful picture of the baby

3) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Annihilate



2. Absance
3. Aquantance

4. Akcelerate

Correct Answer :-

« Annihilate

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Business
2. Brakage
3. Breathe

4. Brilliant

Correct Answer :-
« Brakage
5) DIRECTIONS: Fill in the blank with the correct Preposition.

This dog does not belong anyone.

1. to
2. at
3. for

4. of

Correct Answer :-

6) DIRECTIONS: Fill in the blank with the correct Preposition.

The boys became violent when the watchman refused them entry the
park.

1. over
2. into

3. with



4. besides

Correct Answer :-

e into

7) DIRECTIONS: Fill in the blank with the correct article.
French is the official language in many different countries.
1. An
2. The
3. No article required

4. A

Correct Answer :-

« No article required

8) DIRECTIONS: Fill in the blank with the correct article.
The nightingale has __ sweet voice.

1. No article required

2. the

3.an

4. a

Correct Answer :-

9) DIRECTIONS: Out of the given four options, choose the correct conjunction
to fill in the blank given in the sentence.

We must not complain about the problem, help to put it right.
1. hence

2. but

3.since

4. because



Correct Answer :-

e but

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

He likes football.
I prefer rugby.

1. Else

2. Because

3.0r

4. While

Correct Answer :-

« While

11) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

Our company get the order if the client agrees to the price.
1. ought not to

2. should have

3. might

4. dare

Correct Answer :-

* might

12) DIRECTIONS: Find the word which can be replaced for the given sentence.
A large building on a farm in which animals or hay and grain are kept.

1. Hive

2. Hutch

3. Kennel

4, Barn



Correct Answer :-

e« Barn

13) DIRECTIONS: Find the word which can be replaced for the given sentence.
Seeking and enjoying the company of others.

1. Alien

2. Immigrant

3. Hostile

4. Sociable

Correct Answer :-
« Sociable

14) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

Jenny doesn't (a)/ know James, (b)/ doesn’t she? (c)/ No Error (d)
1. (a)

2. (b)

3.(d)

4. (c)

Correct Answer :-

- (0)

15) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

It is easier (a)/ to read English (b)/ than to speak it. (c)/ No Error (d)
1. (a)
2. (b)
3. (d)
4. (c)



Correct Answer :-

16) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘To see eye to eye’ in the
sentence given below?

My father and I see eye to eye on most things.

1. to disagree with someone
2. None of the above
3. to agree with someone

4. to quarrel with someone

Correct Answer :-

« to agree with someone

17) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘apple of someone’s eye’ in
the sentence given below?

Harry was his first child and the apple of his eye.

1. None of the above
2. the person someone likes the most or is very proud of
3. the person someone hates the most or is ashamed of

4. the cause of the loss of vision of someone

Correct Answer :-
« the person someone likes the most or is very proud of

18) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

He had a glimpse of the picture.
1. possession
2. idea

3. cost



4, glance

Correct Answer :-

« glance

19) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The priest blessed their marriage.
1. cursed

2. praised

3. appreciated

4. quoted

Correct Answer :-
e cursed

20) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

These flowers are brightly colored in order to attract butterflies.
1. call

2. repel

3. stay

4, invite

Correct Answer :-

« repel

Topic:- General Science

1) Magnesium oxide is:/ﬁﬁﬁl’qﬂ&f\mﬁg%:

1. Basic oxide/HaYHd 3HZS
2. Neutral oxide@@ﬁ&lumﬁg
3. None of these/ZH I ®Is gl



4. Acidic oxide/TRITS® 3fTeRITES
Correct Answer :-

« Basic oxide/gaYd TRSS

2) The protozoa which can perform photosynthesis-/ a's'tﬁﬂﬁﬁaﬂx‘rﬁfa?m
TRAYT B bl 3-

1. Giardia/ Steff&an

2. Euglena/ Q’Fﬂ:ﬂ

3. Paramoecium/ URIAR™H
4. Amoeba/ 3rHTeT

Correct Answer :-

« Euglena/ Q??ﬂ:ﬂ

3) Light causes the sensation of-/ U1 f%d UHR B} FASHT BT HIRUT gidT 8-
1. None of these/ T8 4 ®Ig gl

2. Both of the above/ Wi &I

3. Vision/ "5’@'

4. Sound/ @

Correct Answer :-

« Vision/ Ei

4) Deep-sea diving vessels have to withstand pressure from the crushing effect
of sea water acting-/ 78X g% ¥ AT @1 aTelt axg3 Ht TY% & U & HIRAT (HI-T)
UHTG P BRUI A aTel 19 BT JTHAT BT USdT g | g UHTG TTdT o-

1. Downwards/ HId &1 3R

2. Sideways/ T X

3. Upwards/ $WR &I 3R

4. In all directions/ gt st

Correct Answer :-



« In all directions/ gt femmafi

5) What is formed when zinc reacts with sodium hydroxide?/ I ST i SaH
gT3SIaaTssS W ufafshar a1 8, a9 w1 aa1 32

1. Sodium zincate and hydrogen gas@%ﬂﬂ RSihde 3R slsg\lxﬂd eS|
2. Sodium zincate and water/Af$aH fSiwde 3R oId

3. Sodium zinc-oxide and hydrogen gas@%ﬂ'ﬁr SEREICRIES] 3R Glig\luﬁ g

4. Zinc hydroxide and sodium/Ri® gESIAES 3R Wfsay

Correct Answer :-

« Sodium zincate and hydrogen gas@%ﬂﬂﬁm Sﬁig@mﬁﬂ
6) Basic filtration unit of kidney is?/35® ¥ fAtiq 3315 32

1. Ureter/ o= Afcret

2. Urethra/ ITHml

3. Glomerulus/ HR=e"

4. Collecting tubule/ g AfeiaT

Correct Answer :-

« Glomerulus/ TAHead

7) The period when menstrual cycle stops is-/ WWWWWW%—

1. Menopause/ IsI-gfd
2. Menarche/ ISNGRH

3. Luteal phase/ I 3awl

4. Heat period/ ™I I

Correct Answer :-

« Menopause/ ISI-ghd

8) Salt used in food is:/ @M & P A THS BT IUANT fHAT ST 22
1. Sodium hydroxide/dIfeaH g SIRITSS



2. Sodium acetate/Aifgay THice
3. Sodium chloride/AfSTH FRISS
4. Calcium chloride/dfeRIIH FARTSS

Correct Answer :-

« Sodium chloride/AfeTq FARSS

9) Which of the following non-metals occurs as solids? /% arsrrqaﬁﬁﬁﬁ——r.mah
U § YT oIl 82

1. Todine/3AIfeA

2. Carbon/Eb‘Ivﬁ:l

3. Sulphur/deh

4. All of the above/IWRIed a4t

Correct Answer :-

« All of the above/IWRiad g4t

10) Which of the following is not characteristic of displacement?/ Eﬁﬁﬁ?—'ﬂ

fareuTe 1 siftrenfavre 8 -
1. It has both magnitude and direction/ Ig GRHTr qT fa=m Sl Wad §
2. It is always positive/ T8 cd Y-TdP Bidl g

3. Its magnitude is less than or equal to the actual path length of the object/ Sd®T
TRHTOT, 9g §RT 00 2 & SRIeR 1 4 &) Gobell

4. It can be zero/ 8 Y & AHdT §
Correct Answer :-
o Itis always positive/ﬂ‘s’“ﬂﬁa TP Il §

11) Which of the following is lighter than water? /S fif@d # & #19-91 5 I gob1

glare?
1. Todine/3MAISH
2. Sulphur/dethr

3. Graphite/J®Igc



4, Potassium/tﬁéﬁrqﬂ

Correct Answer :-

« Potassium/UiciRIaH

12) Which of the following is the action-at-distance force?/ fAufef@a & ¥ Hi9-1
¥ gil R fpar g 82

1. Mechanical force/ Tid® da
2. Magnetic force/ T dd
3. Muscular force/ ® J® gd

4. Frictional force/‘EITSfUTW

Correct Answer :-

« Magnetic force/ T g

13) Which of the following cannot produce a virtual image?/ A9 & ¥ $19-91 T
SMURTT yfafara T8 Iad &Y Thar:

1. Plane mirror/ gHdd ST
2. Convex lens/ I A
3. Concave mirror/ 3add guur

4. All of the above can produce a virtual image/maﬁﬁﬂ-ﬁﬁ?ﬁ ST Ufdfoe Idd &R 9dhd
g

Correct Answer :-

« All of the above can produce a virtual image/@ﬁaﬁﬂlﬁw ST Tfdfore Idd HR adhd
g

14) During electroplating, the pure metal is deposited at the-/ ﬁa@@ﬁn%

&R, I U1g Fafia it ¢-

1. Both cathode and anode/ %418 TT TAIS GHI R
2. Anode/ TS R

3. Cathode/ ai?ﬁ_s_’tl?

4. At bottom of the electrolytic cell/ fdgad 3/uacy ¥d & Ug WR



Correct Answer :-

« Cathode/ aﬂﬂ%’ W

15) Blood from the lungs enter the heart through the-/ Fﬁm@wﬁw
R Y= $Hvdl &-

1. Arota/ HETYHAT

2. Venacava/ d-llddl

3. Pulmonary vein/WﬂﬁTﬂ

4, Pulmonary artery/ W%M'rﬁ

Correct Answer :-

« Pulmonary vein/ PUHHY RRT

16) Wind is air./ UG g1 @ g
1. Moving/ Tfaziid

2. Moving or resting/ Tfaita ar farm

3. Resting/ faR™

4. None of these/ gﬂﬁ@ﬁg:@

Correct Answer :-

« Moving/ LIRS

17) Ignition temperature is the temperature at which a combustible substance:/

WSIa a9 I8 aT9H 8 oy R sae=ite uerd giar &:
1. None of these/S8 I g g1

2. Melts/Orererar 8

3. Boils/ I &

4. Catches fire/ 31 U%S AdT §

Correct Answer :-

. Catches fire/ 3FT UhS Adl g



18) Animal cell does not have-/ Sig ST & T} U W14 2-
1. Nucleus/ &&d
2. Chloroplast/ gRd @a®

3. Cytoplasm/ ®IRTHT 5T

4. Mitochondria/ mgaasﬁrm

Correct Answer :-

o Chloroplast/ @ ¥d dddh

19) The smallest particle of matter is ./ wﬁmmiﬁaw% |
1. A atom/Udh TRHIY]
2.A neutron/@ﬂgﬁ

3. An eIectron/W%ﬁHﬁ'—f
4. A proton/T& Ui

Correct Answer :-

« A atom/Udh UHTY]

20) Sexual maturity in males is started at the age of-/ TR ¥ dfii® uftusdar fra amy
A g+ g 3-

1. 13-14 years/13-14 3§
2. 14-15 years/ 14-15 Y
3.12-13 years/ 12-13 39

4.16-17 years/16-17 a§

Correct Answer :-

. 13-14 years/13-14 9%

Topic:- General Knowledge

1) Aadesh Shrivastava was a renowned - / &n%wsﬂamawﬁ'@ﬁ a|
1. None of these/%ﬂﬁ@fﬁ'ﬁtﬁ



2. Film-Director / frea-fAdwra
3. Music-Director / I¥iid Ad <P
4. Actor / =T

Correct Answer :-

« Music-Director / I%iid A

2) Honey production is famous in the district of - /8¢ IdTeH & forg ®19- |1 foram
RIS 32

1. Datia/afaan
2. Bhopal/ﬂ-ﬁtﬂﬁ

3. Satna/Idd-l

4. Morena/liﬁ_vﬂ
Correct Answer :-

. Morena/ﬁ%\_vﬂ

3) How many World-Heritage Sites are there in Madhya Pradesh? / H&Oue= §
fran fay-eReT w@ 82

1.4
2.2
3.3

4.5

Correct Answer :-

4) Hoshangabad Security Paper Mill was commissioned in the year:/ BIATETS
ufayfa s FREMT {5 av d wifte far war are

1. 1956
2.1988
3.1974
4. 1967



Correct Answer :-

e 1967

5) In which district are the Chintaharan Ganesh Mandir and Shri Rani Sati Dadi
%i's Temple located? / fRidrgur moier wfew ue ot Tt A<t gt sft &t wiew fw forer & fua
?

1. Agar Malwa / 3R HIIdl
2. Indore/ $aR

3. Gwalior/ TaTferER

4. Rewa / 3d1

Correct Answer :-
« Agar Malwa / "R Hddl

6) In which of the following districts are big reserves of manganese found?/

e d 3 o9- 3 o o A riie & 98 WsR U e §?
1. Jabalpur/ S§AGR

2. Betul/ 9q@

3. Datia/ afaar

4. Balaghat/ dIciYIC

Correct Answer :-

« Balaghat/ SIdMIC

7) In which of the following years did the Madhya Pradesh Chief Minister go on
a 4-day visit to Singapore? / fRafefad ¥ 9 fre adf o weawezr & g 4 fei ot
RITgR I W e 92

1. 2015
2.2016
3.2017

4.2014

Correct Answer :-



8) In which stadium did Sachin Tendulkar score the maiden 200 runs in an ODI

in 2010?/ fra W fEgw & AfA dgasy A 2010 #9938 ¥ 200 i &1 ggelt Ut Weft A2
1. Holkar Stadium, Indore/ 8lesh? RfeaH, R

2. Holkar Stadium, Gwalior/ glcR TISUH, TaTfaar

3. Captain Roop Singh Stadium, Indore/ éa@qwﬁig@%vm, 3@?

4, Captain Roop Singh Stadium, Gwalior/ %@qwﬁrg@%m, TATferR

Correct Answer :-

« Captain Roop Singh Stadium, Gwalior/ &P %Y fiig ®feuy, aifermr

9) From which of the following districts does the Chambal River originate?/

Frafafa o & 9 $19- 9 e § @aa 78 1 3 glar 82
1. Vidisha/ fafezm
2. Indore/é‘cﬁ?

3. Anuppur/ 3JUYR
4. Raisen/ T

Correct Answer :-

« Indore/ $eR

10) Who in 2015 entered the Guiness Book of World Records for the longest
continuous ride, standing on the seat of a motorcycle for 32.3 km in Indore?/

T 2015 # 3ER A freq 32.2 fFarfier vier-usfed ” TS gie TR gare: A §&
AT aes RepTew o 3y AT gof fHar?

1.]. S. Verma/sl. T9. 991

2. Wajid Khan/afoig @

3. Ratnesh Pandey/I@x1 U718

4. Ramesh Chandra Lahoti/X0%I 9% dTgIc!

Correct Answer :-

« Ratnesh Pandey/3a2I uig



11) Which of the following places have SEZs in Madhya Pradesh?/Asqucy H
FrafafET = & 3 F19-9 ° A9 R 3?2

1. None of these/ﬁﬁ@[ﬁgﬁ
2. Jabalpur/Sigdyr

3. Indore/SgR
4. Both of the above/maﬁa:ﬁ

Correct Answer :-

« Both of the above/maﬁa'rﬁ

12) Which of the following divisions have the highest number of districts? /

Frafafea dur & & fea Sy & aaifte Jen & o 82
1. Jabalpur / SI§YR

2. Indore / 3ER

3. Gwalior / TaTfeRR

4. Ujjain / I

Correct Answer :-

. Indore/%flT

13) Which of the following tiger reserves also has a fort and cave shrines with

Sanskrit inscriptions?/fFafefaa arg siarval § § fad ue fvar va O Raca &
1Y T HieR oft 32

1. Kanha Tiger Reserve / &Il Y JWRTY
2. Panna Tiger Reserve / TAT dY JWYRTY
3. Pench Tiger Reserve / U9 979 3{ORTY

4. Bandhavgarh Tiger Reserve/di4di¢ a9 3GRUY

Correct Answer :-

« Bandhavgarh Tiger Reserve/ditaig dTY 3IRTY

14) Which is the state animal of Madhya Pradesh?/ qmu%&rmwwjﬁq-w%?



1. Tiger/d™

2. Wild pig/SiTell g3R

3. Baboon/dR

4. Swamp deer/ IRGRAT

Correct Answer :-

« Swamp deer/ SRR

15) The recently launched Shaurya Smarak in Bhopal is dedicated to the:/ vare
H g1a 81 # w1 2 wIRe frae) qufia 82

1. None of these/ 390 A &5 ol

2. Freedom-fighters/ Wdadl- I=H1
3. Farmers/ &M

4. Martyrs/ I ]

Correct Answer :-

« Martyrs/ Sic!

16) The only state to have more cities in the Top 50 than Madhya Pradesh in the
Swachh Survekshan 2017 is:/ TO<3dT Ha&iv1 2017 &1 2 50 ¥ & 7eg yewr 4 siftre
SATET XME31 @1 TSI IWH ITeT IoT PI- A1 8?

1. Karnataka/ PHlch
2. Kerala/ G|

3. Gujarat/ TeRId
4, Rajasthan/ ST

Correct Answer :-

« Gujarat/ ToRId

17) The river Pench meandering through the Pench National Park divides it
between Chhindwara and districts:/ U9 AP I2AH & A1e09 A G 71 1
figarst ok forem fanfora sar g1

1. Seoni/ gt



2. Rewa/ Jar
3. Rajgarh/ XSlTTq

4. Ratlam/ X¥ddH

Correct Answer :-

« Seoni/ gt

18) The Bargi Dam is on the river - / T gy fPa T R e?
1. Chambal/Ted

2. Narmada/=THal

3. Tapti/?ﬂTcﬁ

4. Mahanadi/HgTa!

Correct Answer :-

. Narmada/ﬂﬁal

19) The jewel of the Kanha National Park is the:/ﬁ?ﬁﬁmﬂﬁﬂmmaﬁﬁﬁ
Id BIH-T18?

1. Cranes / 9RY

2. Crocodiles / HRH®S
3. Barsingha / dRgRIT
4. Lions / i

Correct Answer :-

« Barsingha / SRR

20) Phag is popular form of folk singing in the region of:/ BT f&d &F &1 ST
e A 82

1. Bundelkhand/ §ca@s

2. Chitrakoot/ feEi®e
3. Nimar/ f59 S

4. Malwa/ HIddl



Correct Answer :-

« Nimar/ A8

Topic:- General Hindi

1) AgTedl quf HT Hfa &
1. WOYfeT

2. 9o T

3. TiifcrenT

4. 3{did & I

Correct Answer :-

. 3did & Jares

3) ‘HEuw A3 :
1. 3T TR Y

2. g WR Gy

3. o Y

4. foet 5fey

Correct Answer :-

. gia TR IR



4) Y PIAAI IS S :
1. Hlel
2. faT
3. favIe

4.TY

Correct Answer :-

. fove

5) ‘Autonomy’ &1 fgdl iR HIR® T 3 :
1. WURY
2. YT

3. WAl
4, TGATH®

Correct Answer :-

6) g =, & g wel? / afr gr man g emer 7w - i w8
1. SR SADR
PR HICLRE N CAN

3. IehIfad APR

4. AfaAfad SAHR

Correct Answer :-

. gopifad SABR

7) U T A Ua @
1,39
2.39



3. 01
4. 30N

Correct Answer :-

8) ‘PicT Pe-T Hera¥ ST ATA R :
1. ST GR BT
2. 3 Bl HHD e

3. 3ad g4t
4. {9 T aI=T HeT

Correct Answer :-

. I gHt

9) ‘3UATE Vg HT HS B & :

1. Sl

2. 9 4w 1 S1fdd a1 Aaifed o3 qrer faRiy I
3. D

4, YIRS I

Correct Answer :-

o QY[dIRD dxq

10) ForRIP UTH 1T 918 ST YA gr- AT B

1. ARIRTED dIH
2. TORAD dI

3. fAya® ar

4. harde arR

Correct Answer :-

o QW[ dia



Correct Answer :-

. 3rfg

12) GIUER F1G AIETPR T A ¢ :
1. FSYTRS A=

2. o T aRE® T

3. HIASIYD I
4. AT TR
Correct Answer :-

. HIAGIYD I

13) TUIHRT UG W AN § :
1. ST

2. 81

3. TG

4.5%

Correct Answer :-

14) TGdA A HHHOR UF UBRAT SIAT &
1. JeT g
2. HiaTa I



3. IRIUNT 9
4. SIIAR I

Correct Answer :-

15) fay ¥ walfire St o= arelt urwre & FTRM 8 :
1. T
2. G¥RT
3. AT
4. Ordl

Correct Answer :-

16) frafafed o faaw g adi e :
1. TTgd-aHt

2. G d-Yldhd

3. WI-YICT

4. gcl-ggdt

Correct Answer :-

17) FrafifRd A e awa g

1. 1 BTl | g2 JRT f39g = 81 Bt 3R B
2. g 3R g o1 3ifira Tafe 7

3. BURI WU &A1 o1 [9a1g 8H ST 7 |

4. ST 3R IH< U °Ie U Uit ]

Correct Answer :-

. IR 3R St 1 el Ty B



18) FHfIfea A g e 7 :
1. 3ART

2. 39 gt

3. 3R

4. 3TRT

Correct Answer :-

. Jad gl

19) fafefea & qurfya Rende Ta-gm 76 e
1. BST-hEl
2. EI-Gal
3, -3
4. 3-feaw

Correct Answer :-

- BEl-Pel

20) ARRTR T F i Ueadt 7 :
1. TRTHTH

2. YDA

3. TiifbTed

4. TAfId

Correct Answer :-

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /fexn: S g%
der goft § 7Ted ug 9 S|



1, 27, 25, 343, 82, 1331
1.1331

2.343

3.25

4. 82

Correct Answer :-

2) What is the least number to be subtracted from 945 to make it a perfect

square?/945 ¥ ¥ qH P19 F GBI TS WY % 98 ve quf anf a1 wime?
1. 45
2.16
3.30

4. 24

Correct Answer :-

3) Girish, Sudhir and Rajan working together complete a job in 3 days. If
Sudhir and Girish together can complete the same task in 4 days, then in how
many days Rajan can do the same task alone? /=1, 3R iR 3o feft w1 #) v
1Y BT HYd §U 3 A A T v 31 SR ek sk i Sl erd st 4 e A s 9 &
ot IS P A I BRI B B W foa=T aod am?

1. 22 Days/22 fea
2. 25 Days/25 &
3.10 Days/10 faq

4.12 Days/12 f&q

Correct Answer :-

. 12 Days/12 f&a

4) The roots of the quadratic equation y2-13y+42=0 are:/fggrd gHisor y2-
13y+42=0 F YA &:



5) Three friends individually can complete a work in 4, 5 and 10 days
respectively. If they work together then in how many days the work will be

completed? /1 fiT (ET-3T T T4 &1 HAT: 4, 5 3R 10 A A IR R AHd g1 T 3
TS O1Y i 91e o @1 o fan i o W gt s

5 ]
1= 1=
1. 11pays/ 11feq

1= 1=
2. 3 Days/ 3fad

1 1

1- 1-
3. 2Days/ zfeq

4

'l -
Days/ 5 faA

12
4. s

Correct Answer :-

o o
1— 1—
« “11Days/ 11fgq

6) If the area of a triangle is 300 m2 and base: height is 2:3. Find its height./

afe T AYS &1 &a%d 300 THIER | TUT MUR: S8 = 2:3 §, TTB! SIS JTd DIT.
1. 45 m/45 #
2.30 m/30 #t
3.25 m/25 #

4,20 m/20 H

Correct Answer :-

« 30 m/30 HI

7) The perimeter of a rhombus is 100 cm and one of its diagonals is 30 cm. The

other diagonal is:/ T& GUaqys &1 TRATT 100 A § U1 39T U fawuf 30 I 8, @



g1 fasof ghm:
1. 28 cm/ 28 I
2. 40 cm/ 40 I
3.32 cm/ 32 At
4.52 cm/ 52 94t

Correct Answer :-

« 40 cm/ 40 TH

8) A’s salary is 50% more than that of B. Then B’s salary is less than that of A
by:/A H13d49 B & 3d1 A 50% 3ifiH g, A B #T13d A A fPansA 82

1. 50%

1
2. 334%

1
3.33%%

1
4. 442%

Correct Answer :-

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ &= FA=feRad u=a o yxar® g (2) & RIF TR F1 31T 91fee?

7— 62 82 2
I3 4 Eh+ g 4 =20

1.7
2.19
3.17

4.13

Correct Answer :-



DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fdwr: Fafafaa goft & yyare i (2) & RIM W T4 34T A1RE?

992, 1056, ?, 1190, 1260, 1332
1.1122
2.1092
3.1112

4,1082

Correct Answer :-

e 1122

11) A person travels equal distance with speed of 3 kms/hour, 4 kms/hour and
5 kms/hour and takes a total time of 47 min. The total distance (in kms) is:/U®

faa & Tur ghal &t wasn: 3 ft/aver, 4 [t/ gver ik 5 5t/ gaver @t o & aa S
21 afe Fi=i gl &1 ag oo 47 fFe A qa a1 8, o oo gt (B o) 2

1.3
2.4
3.2

4.5

Correct Answer :-
e 3

12) The ratio of Vimal's and Arun’s present age is 3:5 respectively and sum of
their ages is 80 years. The ratio of their ages after 10 years will be:/ fawa o

3BT B FAHT 3T BT SJUTd PHUIT: 3:5 3R 3! 3TY HT ARG 80 T4 g1 10 Y 91 D!
3T BT 3T T gRIT?

1. 3:2
2.1:2
3.3:5
4.2:3

Correct Answer :-



13) At what speed does a man walk who passes through a street 600 metre

long in 5 minutes?/600 HieX T Telt &1 5 fiqe # 09 =1 & forg safaa & ara wn g
1. 27/5 kmph/27/5 feHt/guer

2. 18/5 kmph/18/5 foHil/guer

3. 9/5 kmph/9/5 feHt/guer

4.36/5 kmph/36/5 fHl/guer

Correct Answer :-

« 36/5 kmph/36/5 f&H1/9UeT

14) A dealer allows his customers a discount of 25% and still gains 25%. If an
article costs Rs.1,440 to the dealer, then its marked price is:/wmmmﬁ
Bl 25% B Fe a1 8 3N R Wt 25% &1 @14 FHTa1 8 1 TS a¥g B @RI fasha1 H1 3. 1,440

3Tt 8, Y 3T Sifbd Yeu
1. Rs.1,850
2.Rs.1,500
3.Rs.2,560

4. Rs.2,400

Correct Answer :-

15) The third proportion of 0.18 and 0.24 is:/ 0.18 dYl 0.24$r?ﬁ'\=RT'\=|'FI1ﬂ'QW%:
1.0.30
2.0.21
3.0.26
4.0.32

Correct Answer :-
« 0.32
16) Average of first five multiples of 5 is?/5 HT YW Ul U HT 34 §:

1. 15



2.15.3
3.15.1

4.15.5

Correct Answer :-

17) =
The simple interest on a sum of money is 25 of the principal and the number

of years is equal to the rate percent per annum. Find the interest rate per
1

annum? /e TR W YR SIS Geree &1 25 @ 9UT 9uf @Y Se ufdad afiwd 6 & R
g1 ufaad suTe eR 3ird Fifemg|

1. 2%
2. 1%
3.3%

4. 4%

Correct Answer :-

« 2%

18) Find the smallest of the following fractions./fgffad fidl # & 99 S fa=
A B

685
1 1300

11

2. 20

312
3. 623

256
4. 450

Correct Answer :-

685
o 1300



Find the least number of five qigits which when divided by 12, 16 and 40 leaves
in each case a remainder 8:/UMd 3P| &1 98 T B! J&T FTd FIoE S59H 12, 16 aUT
40 ERT YT feT o9 R gA AVPd 8 ST 8:

1. None of these/3H I ®IS ot
2.10,072
3.10,088
4.10,080

Correct Answer :-

12
4,13
Correct Answer :-

15
. 19



